gbobooossoobooboobobob1zoodn

0-2940 0
1m?
0.6m?3
20 5
30 50 5
1
t W(t) W= Y { V(t-i) f(i) } 1
V(i) t-i t-i
(i) i i
3
31
1 1998 1999
1)
1990
2012 14000m?
1000m? 25000m® 13000m?
2012
Key Word

376-8515 1 5- TEL.:0277-30-1630 FAX.:0277-30-1601



gbobooossoobooboobobob1zoodn

0-29400
30000 ,
2 20000 |
= i
% 10000 :—"’/"’/’,,,,,/——"""__"““‘
] |
0 1 1 1 1 1 1 1
1980 1985 1990 1995 2000 2005 2010 2015
_H_ —_—
1 K
2
1960 1995 30
50 (@) 1960 1995 1 8
100000
80000
"= 60000
HE _'
‘T 40000-
20000
0 I I I I I I | I I I I I I
1965 1970 1975 1980 1985 1990 1995 2000 2005 2010 2015 2020 2025 2030 2035
—H—
S 30
—— 50
2
1 8
1 1996 1998
2600m? 30 2010
K 5000m?
(1)
(2)
1) 35 168-170(1998)

2) 1999 (1999)



	kyotsu: 　　土木学会第55回年次学術講演会（平成12年9月）
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